SHBERTRERE  $525% 1989

SUMMER (NH)  PT (50 N)
120E  1S0E 180 150K  120W  90W

RN : 500

1000 Y | SO\ 1000

1500

1S0E | 180 1S0M
CONTOUR INTERVAL = 1.

120E 90K

B 3.1.89 EFIIBITLEF VY v VKBOEGERES A (50°N)

SUMMER (NH)Y PT (40 N)
120E 150 180 150W 120W “G0W

500 500

1000 1000

=== 4 0 F === |5
15007 Doe 150E 180 150K 120W 90uW

CONTOUR INTERVAL = 1.0 C

K 3.1.90 BEFIBIHRT V¥ v VKBOHEFKES (40°N)
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REMAFHFRE 6255 1989

SUMMER (NH) PT (30 N)
OF  1SOE 180 150W  120W 9OW

0 0
500 ;500
1000 r1000
1500 - 1500

120E  1S0E 180 - 1S0W  120W 90K
CONTOUR INTERVAL = 1.0 C

B 3.1.91 BEFIIBIFBLEF VY v VKEOEBEES M (30°N)

SUMMER (NH) PT (20 N)

_I20E 1S0E 180 150W  120W

500

1000

120€ 1S0E 180 1S0W  120W  9oW
CONT@UR INTERVAL = 1.0 C

1500 r1500

M 3.1.92 BEFIIBIFAET VY v VKEBOEBERESA (20°N)
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REMEFBMHE  $25% 1989

SUMMER(NH) PT (10 N)

0. 1206 1S0E |, 180 1SOW_ 120W _ SOW
I* =
500- 500
1000 1000
00 e T%or 80 Ron lhoW 3o 1500

CONTOUR INTERVAL = 1.0 C
X 3.1.93 EFIIBIFBLRTF VY v VAKBROERBGEES A (10°N)

SUMMER(NH) PT ( 0 N)

120E  1S0E 180 1S0W  120W

500

1000

WV o N
120 150 180 1S0W 120W SO
CONTGUR INTERVAL = 1.0 C

1500

3.1.94 BFIIBIART VI vy VKIBRORAKESF GRd)
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500

1000+

1500

X 3.1.

500

1000

1500

NSNS T2

~

SRFAFHMEE 255 1989

WINTER(SH) PT (10 S

ISOE 180 I1SOW  120W

il

) 1 )N}

500

1500

_120E 1S0E 180 150W  120W  90W.

90W

0E 180  150W  120W
CONTBUR INTERVAL = 1.0 C

95 £&ZF (BEIK) IXBIFAHRT V¥ v VKEBORAKESA (10°S)

WINTER(SH) PT (20 S)

Y

A

g

7

1 500

/|

-/

’/

i3 /—V/’\/—/\—\_/\’\/\A/-IOOO

i z \J/\/\\f\\_“\\\-\—\/ﬂv/xL

k. - T T T v N T T T T T 1
120€ 150E 180 150N 120W 30N 1500

CONTQUR INTERVAL = 1.0 C

B 3.1.96 £&F (FEF) KKBIFHEF VY v VKROEBRE S (20°9)
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KEMEFBHMRE 4255 1989

WINTER(SH) PT (30 S)
120E  1SOE 180 1504 120K 9OMW

500

1000

1500+ 1500

120E IS0E 180  1SOW  120W  90W.
CONTOUR INTERVAL = 1.0 C

K 3.1.97 &F (FEEK) BB EF V¥ v VKEOREBHESA (30°S)

WINTER(SH) PT (40 S)
120 1SOE_ 180 1504
.

_120W . 90W

<

500+ 500

G

1506 180 150W 1204 SOW
CONTBUR INTERVAL = 1.0 C

1500 3ot

M 3.1.98 &F (FEI) WKBIHET VI v VKBOERAEWTE S (40°S)
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[EBWEPTHAMIME 255 1989

WINTER(SH) PT (50 S)

0 L20E ISDE 180 | ISOW 1204, 9OW
I
500+ 21\\\\//8} : 500
é}‘“\\qiizi
1000+ \\’\\“f\\\ 1000
1500 1500

120 1S0E 80 1SOW  120W = 90W.
CONTOUR INTERVAL = 1.0 C

B 3.1.99 £&F (BEEK) IXBIFARF VY v VKBOMAKESA (50°S)

WINTER(SH) PT (60 S)

0, L20E |, 1SOE 180 150W__ 120W__ _90OW, .
D L c" (}J .\l: '
1 < 753 ) 77 3 .. 02 -t 2 2 -
500<[:’7 ﬁ/ﬂ‘j /r\‘yj 500
2
1000+ s % F1000
° o i
2 1
» Y r
i I L
_ . \,
1500 —t ' —+ 1500

1206 1S0E 180 150W 1200 9OW
CONTOUR INTERVAL = 1.0 C

K 3.1.100 4% (BEFK) BT EF Y v VKBOERKES (60°S)
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